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Pregunta 1

.globl Q
[oF
pushl %ebp
mowl ¥=sp, %ebp
pushl %esi
pushl %ebx
mowl B (%ebp), tedx # ler. pardmetro
maw 1 12{%ebp), %ecx # 2do. pardmsktro
maw 1 l&6{¥ebp), %ebx # lJer. pardmstro

mowl (%edx, ¥ecx,4), %esi
maw 1 (kedx, ¥ebx, 4], ¥eax
mow 1l ¥eax, (Yedx, Feox,d4)

mowl Yesi, (%edx, ¥ebx,4)
popl Febor
popl Fesi

popl ¥ebp
ret
.glabl P
By
pushl %ebp

mow 1l ¥esp, ¥ebp
pushl &edi

pushl %esi

pushl %ebx

subl =12, Eesp

mowl B (%ebp), %edi
maw 1 12 (%ebp), %ebx
mowl 16 (%ebp), %eei

# =1 %ebxz=%esi goto .L10
cmpl ¥esi, %ebx
jge .L1o

.La:

# =i (¥edi,%ebx, 4)s=0 goto .L&
cmpl 20, (%edi,%ebx,4)

jns .L&
addl 21, %ebx
Fmp L3

L&«

subl 24, Fesp

pushl %esi § ler. arg
pushl %ebx # 2do. arg
pushl %edi § ler. arg
call Q
suhbl 21, %esi
addl 2l&, Resp

JL3:

# i1 %ebxe%esi goto .LE
cmpl ¥esi, %ebx

il .L8

.L10:
mowl Febx, %Teax # valor de ret.
leal -12(%ebp), ¥esp # %esp= %ebp-12

popl Febx
popl ¥esi
popl ¥edi

popl Febp
rek

Pregunta 2

Dado el siguiente c6digo en C:

// Busqueda binaria
int p(int x , int al ] , int n){
int j = n-1 ;
int i = 0 ;
do{
unsigned int k =i + j ;
k /=2 ;
int e=a [ k1] ;
=e )

return k ;
elseif (e >= x )
j=k-1;
else
i=k+1;
} while (i <=3 ) ;
return -1;

}

Implemente su equivalente en Assembler,




